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Division Facts Up to 12 Word Problems

‘ - Reagan harvested 126 iris and divided them into 9
equal bouquets.

How many flowers are in each bouquet?

‘ © If Reagan works 56 hours per week, how many hours does she
work per day?

A group of 76 people are going on a field trip. If each min bus
can hold 2 people, how many buses do they have to hire in
order to take everyone on the field trip?

‘ My brother and | played video games at home. | scored 153
points and my brother scored the ninth of my points.

How many points did my brother score?

= Hailey, Gustav and Kennedy shared a jar of candy that had 39
candies.

How many candies did each person get?

©math-wordproblems.com - All rights reserved.



hl I Math-word problems.com

Division Facts Up to 12 Word Problems

- Number of iris she harvested = 126

Number of bouqguets she divided the iris into = 9.
Therefore, number of flowers in each bouquet =

number of iris she harvested + number of bouquets she divided the iris into.
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So, 14 flowers were in each bouquet.

She works 8 hours per day.

They have to hire 38 min buses in order to take every one on the field trip

My brother scored 17 points.

Each person got 13 candies.

©math-wordproblems.com - All rights reserved.



	01_division-facts-up-to-12-word-problems
	01_division-facts-up-to-12-word-problems_9ef63-02

